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o HO|Z i3] : https://dacon.io/competitions/official/235745/overview/description
(https://dacon.io/competitions/official/235745/overview/description)

o 28 & &3 : https://dacon.io/competitions/official/235745/talkboard/403708?page=1&dtype=recent
(https://dacon.io/competitions/official/235745/talkboard/4037087?page=1&dtype=recent)

In [59]: M

Hit ot=2 = &8

import matplotlib

from matplotlib import font_manager, rc
import matplotlib.pyplot as plt

import platform

import numpy as np

path = "C:/Windows/Fonts/malgun.ttf"
if platform.system() == "Windows":
font_name = font_manager .FontProperties(fname=path).get_name()
rc('font', family=font_name)
elif platform.system()=="Darwin":
rc('font', family="'AppleGothic")
else:
print("Unknown System")

matplotlib.rcParams['axes.unicode_minus'] = False

%matplotlib inline

In [60]: M

import matplotlib.pyplot as plt
import seaborn as sns
from sklearn.linear_model import LinearRegression

In [61]: M
import pandas as pd

train = pd.read_csv("../../data/parking_demand/train_df_errno.csv")

test = pd.read_csv("../../data/parking_demand/test_df.csv")

sub = pd.read_csv("../../data/parking_demand/sample_submission.csv")

age = pd.read_csv("../../data/parking_demand/age_gender_info.csv")

train.shape, test.shape, sub.shape, age.shape

out[61]:
((2896, 15), (1008, 14), (150, 2), (16, 23))
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In [62]:

train.columns

Out [62] :
Index(['SHX2E", 'SMHUL", 'AdUAEFRE", "N, 'B2RY"', 'dgHy"' '
HESEMNUs", 'S,

THHSE', 'AdE=Z2', 'AdU2', "102WHXGHES", '102UHHARZE S
SHIWFEXHES SEXES],

dtype='object ")

In [63]:
fig, (ax1, ax2) = plt.subplots(nrows=1, ncols=2, figsize=(12,7))

ax1.hist(train[' SESxX&F="])
ax2.hist(np.log(train['S=Sxt&="1))

Out [63]

(array([ 12., 6., 85., 180., 352., 314., 649., 781., 399., 118.]),

array([2.56494936, 3.09283929, 3.62072921, 4.14861914, 4.67650907,
5.204399 , 5.73228893, 6.26017885, 6.78806878, 7.31595871,
7.84384864]) ,

<BarContainer object of 10 artists>)
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In [64]:
all_df = pd.concat([train, test], join="inner")
all_df
Out[64]:
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3904 rows x 14 columns
In [65]:
all_df.isnull().sum()
Out[65]:
CX2E 0
S M= 0
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Bt 0
JNBERS = 2
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102 LH XISt & 2~ 249
NVZUHHAE R E = 4

SHA =A==
dtype: int64
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In [66]:

all_df.loclall_df[' XM=& ] isnull()]
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Out [66]:
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= o
In [67]:
all_df.loc[ 196, "AH2R&"] = 'A'
all_df.locl[ 258, "AHHAK&"] = 'C'
In [68]:
mapping = { 'A':1, 'B':2, 'C':3, 'D':4, 'E':5,
'F':6, 'G':7, 'H':8, "I':9, 'J':10,
‘K11, 'L'i12, 'M':13, 'N':14, '0':15 )
all_df['KIHHSE '] =all_df[' MHZ=KE "] .map(mapping).astype(int)
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In [69]:
all_df.head()
Out [69]:
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In [70]:

all_df.isnull().sum()

Out[70]:

SHAZDE 0
SHN= 0
AHE2 A= 0
X4 0
2278 0
HdEHN 0
HNEHHANC =+ 0
Sk 0
INEERTA= 0
AHEsE=2 749
= 749
102 LH XIGHE == 249
m%mmAﬂ§+¢ 4
SHXLH=XtH 0
dtype: int64

In [71]:

all_df.corr()['102HBHAE S & Z4"]

Out[71]:

S M= -0.002576
dEHA 0.002303
HEHHGEAN U= 0.040635
20t 0.038906
PR = -0.014581
102 LH KX BHE == 0.058901
1OE§LHH1J\}H$$ & 1.000000
EFXILH =X+ 0 097617

Name: WTMH AH

In [72]:

grouped = train.groupby([' 2 UHASFE",
group! = grouped.get_group( ('OFIIE"

group1[ ' 102 HHAEZZ2="] mean()

Out[72]:
3.996268656716418

In [73]:

grouped = train.groupby([' & CHAH
groupl = grouped.get_group( ('Ot
val = groupl[' 102U HAE S &=
val

Out [73]:
3.9962686567 16418
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In [74]: M
# OO &2l =

all_df.loc[ all_df['102UHHAEFZEZ"] isnull(), "102HBHAESZEZS"] = val

In [75]: M

all_df.loc[ all_df['102UHHAZESEZL"] isnul I(), :]

Out[75]:
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In [76]: M

all_df.isnull().sum()

Out[76]:
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In [77]: M

al |_df.shape

Qut[77]:
(3904, 14)

localhost:8888/notebooks/Documents/Github/PythonBasic/03_unit03_04_dacon_area/07_feature_engineering_01.ipynb# 8/26



2021.7.21. 07_feature_engineering_01 - Jupyter Notebook
In [78]:
all_df.head()
Out[78]:
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In [79]: M
gubunt = {'OFIHE "1, "AD}"':2}
gubun? = {'HAY T "1, "HHEZHAl':2, 'FIT":3, 'HAET" 4,
AR, 'ZAFZAAE, 'SEEL 7, 'RAZSGA S,
"HIFESYXXE:9, 'SMZAA':10, 'SHFET 111, Mg ':12,
HASE 3, HFREEA 14, 'NSELEAI'15, 'NSSEYXXIAlI16}
gubun3 = {'=2212 041, '22H(50E)" 2, 'ERAM 3, "UCHAD}' 4,
'S3YU(104) 5, 'SSLU(2YE) 6, "HIITAM'"T7, 'B32L':8,
'HEFE g, 'BYU((BYE) 10}
all_df['2UHA=222_1bl'] = all_df['2HA=222"].map(gubuni)
all_df ("X _Ibl'] = all_df['XI<"].map(gubun?)
all_df[' 228 &_Ibl'] = all_df['=2=2%2¢"].map(gubun3)
al|_df
Out [79]
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In [80]: M

all_df[ 'S X ZE"] = all_df['&XZ="].astype("category")
all_df['SXZ2ZE_Ibl'] = all_df['&XIZE"].cat.codes

it N2HNZS 22t516H)]
all_df['A2HEEHHE"] = all_df['A2HE LM H=="].astype('float32")

# d2HAN S, HXAW=XHS
all_df['qout_EAMICH=="] = pd.qcut(all_df['SAMICH=="], 5, labels=False)
all_df.head(10)
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= S
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HEHHE Mchel gAlet SMItH+7t LXI5HX| Yie 2F

« XIO|7} 14M|CH O|&}QI 4870 THX| - ['C1925', 'C1312', 'C2013', 'C1424', 'C2520', 'C2319', 'C1850', 'C1068',
'C2644','C2156', C2453','C1910', 'C2139', 'C2508', 'C1695', 'C2556', 'C2362', 'C2568', 'C2245', 'C2549,
'C1584', 'C2298', 'C2225', 'C1218', 'C1970', C1732', 'C2433', 'C1894', 'C1156', 'C2142', 'C2186', 'C2411',
'C1812','C1030', 'C1749', 'C1349', 'C2043', 'C1229', 'C2363', 'C1414', C2174', 'C2404', 'C1683', 'C1038",
'C2456','C1266', 'C1267', 'C2189']

o X}O|7} 94~452M|CH I 1071 EHX[(Z7]|%) - [[C1490', 'C2497', 'C2620", 'C1344', 'C1024', 'C2470', 'C1206',
'C1740', 'C2405', 'C1804']

In [81]: M

groupl = ['C1925", 'C1312', 'C2013"', 'C1424', 'C2520', 'C2319', 'C1850', 'C1068', 'C2644', 'C2156',
'C2453', 'C1910', 'C2139', 'C2508', 'C1695', 'C2556', 'C2362', 'C2568', 'C2245', 'C2549',
'C1584', 'C2298', 'C2225', 'C1218', 'C1970', 'C1732', 'C2433', 'C1894', 'C1156', 'C2142',
'c2186', 'C2411', 'C1812', 'C1030', 'C1749', 'C1349', 'C2043', 'C1229', 'C2363', 'C1414",
'C2174', 'C2404', 'C1683', 'C1038', 'C2456', 'C1266', 'C1267', 'C2189' ]

for onel in groupl:
all_df.loc[ all_df['SHX2E"] == onel, "StAZE=_Type" ] = 1

In [82]: M

all_df[ 'S X2 Type'].unique()

Out [82]:

array([nan, 1.])

Al 1. X10] 7} 94~452 M| CH Q! 1070 THX| X 2|57 |
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In [83]:

all_df

.locl

Out [83]:

07_feature_engineering_01 - Jupyter Notebook

all_df["S X 2E _Type']l.isna(), "SX2E=_Type"] = 3
all_df[ 'S X2 _Type'].unique()

array([3., 1.])

In [84]:
all_df_last = all_df.drop(['& A= 2", "'NY', '2288'] , axis=1)
all_df_last
Out[84]:
10
10 = ol
2 =
5 Mg Xt = Hogg o S
o = o =~ d X 2
oxla2 M Mg ©®H JZ7t H AdRS oz X 2 Wz o o o
E of ©®Yy HM = 8 = ° S o e E Ibl o
= i 8 . = * L
= T =2 _Ibl
= # _lIbl
AL
T
0 C2515 545 33.48 276.0 17.0 1 9216000 82940 0.0 3.0 6240 1 1 1
1 C2515 545 39.60 60.0 17.0 1 12672000 107130 0.0 3.0 6240 1 1 1
2 C2515 545 3960 200 17.0 1 12672000 107130 0.0 3.0 6240 1 1 1
3 C2515 545 4690 380 17.0 1 18433000 149760 0.0 3.0 6240 1 1 1
4 C2515 545 4690 190 17.0 1 18433000 149760 0.0 3.0 6240 1 1 1
1003 C1267 675 36.77 126.0 38.0 12 - - 00 10 4670 1 1 9
1004 C2189 382 2919 96.0 450 8 6872000 106400 0.0 2.0 3000 1 4 1
1005 C2189 382 2919 20.0 450 8 6872000 106400 0.0 2.0 3000 1 4 1
1006 C2189 382 39.45 202.0 450 8 13410000 144600 0.0 2.0 3000 1 4 1
1007 C2189 382 4623 60.0 450 8 18689000 166500 0.0 2.0 3000 1 4 1

3904 rows x 17 columns
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In [85]: M
all_df.info()

<class 'pandas.core.frame.DataFrame'>
Int64Index: 3904 entries, 0 to 1007
Data columns (total 20 columns):

# Column Non-Nul| Count Dtype

0 S9X=2E 3904 non-null category

1 SAHU= 3904 non-null  int64

2 YliAH=+=2 3904 non-null object

3 X4 3904 non-null object

4 =g 3904 non-null  object

5 HdgHA 3904 non-null  float64

6 HNSHIEENU= 3904 non-null  float32
7 2% 3904 non-null  float64

8 AZR™ 3904 non-null  int32

9 AdtiEs=2 3155 non-null  object

10 & 3155 non-null  object

11 102 W XIctE %= 3655 non-null  float64
12 102UHHAZEZE L 3904 non-null  float6d
13 SXILHF=XH 3904 non-null  float64
14 LUWAHAEFAZ=_Ibl 3904 non-nul | int64

15 X< _Ibl 3904 non-nul | int64

16 S22 E_Ibl 3904 non-null  int64

17 SX2E=_Ibl 3904 non-null int16

18 qcut_ESAMIOI== 3904 non-null int64

19 S A ZE_Type 3904 non-nul | float64

dtypes: category(1), float32(1), float64(6), int16(1), int32(1), int64(5), object(5)
memory usage: 668.6+ KB

In [86]: M
# 'SMCOH=" : 0.333440, "X =" 1 0.861338, 'EHEj =_Ibl © -0.449130

# NEHH 0.112717, 8E2HAEAEAN = 0.250513, SIt= 0.118910,

# A= -0.154034, Z2==<_Ibl —QBHW
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In [87]:
fig, ax = plt.subplots(nrows=3, ncols=2, figsize=(10,13))

all_df_last['EAIH=="])
all_df_last['&&HA"])

ax[0][0].hist
ax[0][1].hist

(

(
ax[11[0].hist(all_df_last[ St XILHZ=R2H2="])
ax[1]1[1].hist(all_df_last[' 102 HXIGIES"])
ax[2][0] .hist(all_df_last[' 102 LHHAEZZ4"])

aﬂﬂﬁkmmdefMﬁP_%EE%MWAﬂ)
Qut [87]:

(array([3.266et03, 4.760et02, 1.060et02, 4.500et01, 4.000et+00, 2.000e+00,

1.000e+00, 3.000e+00, 0.000e+00, 1.000e+00]),
array([1.0000e+00, 1.8740e+02, 3.7380e+02, 5.6020e+02, 7.4660e+02,
9.3300e+02, 1.1194et+03, 1.3058e+03, 1.4922e+03, 1.6786e+03,
1.8650e+03], dtype=float32),
<BarContainer object of 10 artists>)
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In [88]: M

train_df = all_df_last.iloc[0:2896, :]
test_df = all_df_last.iloc[2896:,:]

train_df.shape, test_df.shape

train_df = pd.concat([train_df, train[' SSx==2="] ], axis=1)
train_df
Out [88]:
10
10 & o
g2 2
= S I I
9XE M H8 W 27 A duEE . m . 4F S o B
[= C o & A O = i AL = I = *} = 9 m
—_ H [t | Ek“ T T [=] -6- =~ I'l_ |b| 1
+ o ¥ s o+ L2
¥ R T g _Ibl _
= % _Ib
AL
T

0 C2515 545 33.48 276.0 17.0

—_

9216000 82940 0.0

w
o

624.0 1 1 1 4
1 C2515 545 39.60 600 17.0 1 12672000 107130 0.0

®
=}

624.0 1 1 1 4
C2515 545 39.60 20.0 17.0 1 12672000 107130 0.0

w
o

624.0 1 1 1 4
C2515 545 46.90 38.0 17.0 1 18433000 149760 0.0

w
o

624.0 1 1 1 4

A W DN

C2515 545 46.90 19.0 170 1 18433000 149760 0.0

w
o

624.0 1 1 1 4

2891 (C2532 239 49.20 19.0 70 1 11346000 116090 0.0 1.0 166.0 1 5 1 5
2892 (C2532 239 51.08 34.0 7.0 1 14005000 142310 0.0 1.0 166.0 1 5 1 5
2893 (C2532 239 5173 340 7.0 1 14005000 142310 0.0 1.0 166.0 1 5 1 5
2894 (C2532 239 5196 1140 7.0 1 14005000 142310 0.0 1.0 166.0 1 5 1 5
2895 (C2532 239 54.95 19.0 70 1 14830000 151030 0.0 1.0 166.0 1 5 1 5
2896 rows x 18 columns
In [89]: M

train_df['log . SEEX2f4"] = np.loglp(train_df[ E2Xt&4"])
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In [90]: M

from sklearn.model_selection import train_test_split

print("SSXES A2AHZL ") train_df.corr() [ SE=EXEA"])
print(

print("log_SSXt&ES A2AH = ", train_df.corr()['log_SEXt&4"])
SEXgs AZHS 0 SHUS 0.333440

dEHA 0.112717

HEHME MU 0.250513

2= 0.118910

AH=E -0.154034

10=LHKIoHE == -0.107308

EUHHAES & 0.104200

CEXILH ==X == 0.861338

AUHAHASFAZ2_Ibl -0.449130

X< bl 0.060674

S22 E_Ibl -0.137277

SHXZE_Ibl -0.062077

geut_SAHI U= 0.401309
SXIDE_Type 0.133207
EEXEL 1.000000
log_ S EX&E 0.881679
Name: SSXt&F=, dtype: float64

log_SSEAtds &2H=x= ; SHU= 0.228964
HEHH 0.111644
HEHHEMUH= 0.274772
3t 0.200793
AE = -0.238579
102U XIGHE = —0.125054
N=UHAESE = 0.080122
Ch XL ==X == 0.805096
SUHA==_Ibl  -0.596565
XS _1bl 0.108532
S=7<_Ibl -0.291515
SHXI2E_Ibl -0.065896

geut_S AU = 0.303550
SXI2E_Type 0.109606

SEXEs 0.881679
log_ SE Xt 1.000000
Name: log_SSXt&F=, dtype: floatb4

In [91]: M

pd.set_option('display.max_columns',500)
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In [92]: M
train_df .head()

out[92]:
10
10 = ol
= o
5 Hg xt =l gy 3
o = W H =~ d X = X
BRZ M M8 ¥M 3% A diEE . o5 . UYF S o 5 5
4 =%] A O 4 o - = = T =
E EH EI_I Ek" T f [=] ao-l_ 7c;.>| xl‘ﬁ ; _|b| S E
T o= 3 ¥ R - =] Ibl _Ibl
= T = - —_
= % _Ibl
AL
T
0 C2515 545 3348 276.0 17.0 1 9216000 82940 0.0 3.0 624.0 1 1 1 492
1 C2515 545 3960 60.0 170 1 12672000 107130 0.0 3.0 624.0 1 1 1 492

C2515 545 3960 200 170 1 12672000 107130 0.0

@
o

624.0 1 1 1 492

C2515 545 46.90 38.0 17.0 1 18433000 149760 0.0

w
o

624.0 1 1 1 492

A WO N

C2515 545 46.90 19.0 170 1 18433000 149760 0.0

@
o

624.0 1 1 1 492

In [102]: M

sel = [ 'SMU=x", '88HA" ', "SXWHFXHS",
‘qout_SAHIU=", 'AZ2RE, 'MEHIAEMNUHS", "10EUHHAEZE '
AUASP22_Ibl', 'BESSE_Ibl', 'XNE_Ibl', "HXN2E_Ibl",
'St 2 E _Type']

’

lable_name = 'log_ ESXfk4"
X = train_df[sel]

y = train_df[lable_name]
test_X = test_df[sel]

X_train, X_test, y_train, y_test = train_test_split(X, v,
test_size=0.1,
random_state=0)

In [103]: M

import numpy as np

from sklearn.model_selection import train_test_split
from sklearn.model_selection import cross_val_score
from sklearn.ensemble import RandomForestRegressor
from sklearn.ensemble import GradientBoostingRegressor
#import xgboost as xgb

#import lightgbm as Igb

localhost:8888/notebooks/Documents/Github/PythonBasic/03_unit03_04_dacon_area/07_feature_engineering_01.ipynb# 20/26



2021.7.21. 07_feature_engineering_01 - Jupyter Notebook

In [104]:

mode! = RandomForestRegressor (n_jobs=-1)
model . fit(X_train, y_train)

pred = model .predict(X_test)

" model.score(X_train, y_train) ) # Z& A=

print("&&(score) -
A " model.score(X_test, y_test) ) # Z&H =%

print("BHIAE (score) :

st&(score) @ 0.9990904288073044
BHIAE(score) @ 0.9983978478845238

In [105]:

model = GradientBoost ingRegressor ()
model.fit(X_train, y_train)
pred = model .predict(X_test)

" model.score(X_train, y_train) ) # Z&H %

print("st&(score) #
AE ", model.score(X_test, y_test) ) # ZEH =%

(score)

st&(score) : 0.9596969868857229
A E(score) @ 0.9589475185389966

In [106]:

import time

n [117]:

now_time = time.time()

mode|_RF = RandomForestRegressor (n_estimators = 1000,

random_state=0, n_jobs=-1)

model _RF.fit(X_train, y_train)
score = cross_val_score(model_RF, X_train, y_train,
cv=5, scoring="neg_mean_absolute_error") # neg_mean_squared_error
m_score = np.abs(score.mean())
print("RandomForestRegressor Score : {}".format(m_score)) # &==

pro_time = time.time() — now_time
print(pro_time) # Zgl Al2t

RandomForestRegressor Score : 0.03266266039479642
15.470895290374756

n [118]:

hyperparameters = {'boosting_type': 'gbdt',
'colsample bytree': 0.7250136792694301,
"is_unbalance': False,
"learning_rate': 0.013,
'min_child_samples': 20,
"num_leaves': 56,
'subsample': 0.5233384321711397,
'n_estimators': 1000}
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In [109]: M
import lightgbm as Igb

ow_time = time.time()

m_I|gbm1 | gb.LGBMRegressor (x*xhyperparameters)
m_lgbmi.fit(X_train, y_train)
score = cross_val_score(m_Igbmi1, X_train, y_train,

cv=5, scoring="neg_mean_absolute_error")

m_score = np.abs(score.mean()) # ZCHat
pro_time = time.time() — now_time

print(pro_time) # Zgl Al2t
print("LightGBM Score : {}".format(m_score)) # &=

51.80305099487305
LightGBM Score : 0.044679934497532305

hyperparameters = {'boosting_type': 'gbdt',
‘colsample_bytree': 0.7250136792694301,
"is_unbalance': False,
"learning_rate': 0.05,
'min_child_samples': 20,
‘num_leaves': 56,
'subsample': 0.5233384321711397,
'n_estimators': 1000}

In [110]: M
#sel = [ 'SMU=", AEHAR" 'HSHESMU=", "Bk,

# AARE, HAUWFIES,

# PUASHA=Z_Ibl, 'ESKE_Ibl', "XNE_Ibl']
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In [111]: M

hyperparameters = {'boosting_type': 'gbdt',
'colsample_bytree': 0.7250136792694301,
"is_unbalance': False,
"learning_rate': 0.013,
'min_child_samples': 20,
"num_leaves': 56,
'subsample': 0.5233384321711397,
'n_estimators': 1000}

model_last = Igb.LGBMRegressor (**hyperparameters)
model_last.fit(X_train, y_train)

pred = model_last.predict(test_X)

pred[0:10]

Out[111]:

array([6.56643283, 6.53774823, 6.55184919, 6.55200065, 6.54788285,
6.54807384, 6.50607099, 6.53878309, 7.09102681, 7.07892433])
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In [112]: M
test_df[' SSX&="] = np.expmi(pred)
test_df[ ' SHAIEX&FLHEA'] = test_df.groupby("SHXZE")['SEX&F4"] . transform(np.mean)
test_new = test_df.drop_duplicates(['StXI2E"], keep='first').reset_index()
test_new
<ipython—input-112-4240d87ed58b>:1: SettingWithCopyWarning:
A value is trying to be set on a copy of a slice from a DataFrame.
Try using .loc[row_indexer,col_indexer] = value instead
See the caveats in the documentation: https://pandas.pydata.org/pandas—docs/stable/u
ser_guide/indexing.html#returning—a—view-versus—a—copy (https://pandas.pydata.org/pa
ndas—docs/stable/user_guide/indexing.html#returning-a-view-versus—a—copy)
test_df[ ' SEX&EZ"'] = np.expm1(pred)
<ipython—input—-112-4240d87ed58b>:2: SettingWithCopyWarning:
A value is trying to be set on a copy of a slice from a DataFrame.
Try using .loc[row_indexer,col_indexer] = value instead
See the caveats in the documentation: https://pandas.pydata.org/pandas—docs/stable/u
ser_guide/indexing.html#returning-a—view-versus—a-copy (https://pandas.pydata.org/pa
ndas—-docs/stable/user_guide/indexing.html#returning-a—view-versus—a—copy)
test_df[ ' SHAIE X ZH2=HR'] = test_df.groupby("SHXDE")['SEXFZ"] . transform
(np.mean)
Out[112]:
10 ol
= 10 |
bIK=3
|:|-x|=| _’F_k“ poK=1 ;;I .T'_7|. ﬂ‘ °|EHE5 LH _E_LH E_I'X]LH 7'j X
index =72 o701 Fe B0 el o FUTS Afge x| HA FxH 2 ¢
= EHT EI_-II Ek" T 7T [=] 3'- b= A ":
EHA & oTT T ?‘ !
B i H ¥ 2
T Ibl
0 0 C1072 754 39.79 116.0 14.0 22830000 189840 0.0 2.0 683.0 1
1 8 C1128 1354 39.79 368.0 9.0 8 22830000 189840 0.0 3.0 1216.0 1
2 17 C1456 619 3340 820 18.0 1 19706000 156200 0.0 16.0 547.0 1 i
3 26 C1840 593 39,57 253.0 7.0 1 14418000 108130 0.0 3.0 543.0 1
4 30 C1332 1297 39.99 282.0 11.0 8 28598000 203050 0.0 2.0 1112.0 1
142 982 (C2456 349 26.44 240 17.0 8 6992000 117000 0.0 4.0 270.0 1 f
143 986 C1266 596 26.94 164.0 350 8 8084000 149910 0.0 1.0 593.0 1 1
144 991 C2152 120 2483 66.0 90 3 - - 00 10 40.0 1
145 993 C1267 675 2487 28.0 38.0 8 6882000 104370 0.0 1.0 467.0 1
146 1004 C2189 382 2919 96.0 450 8 6872000 106400 0.0 2.0 300.0 1
147 rows x 20 columns
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In [113]: M
add_dat = {'code':['C2675"', 'C2335', 'C1327'],

Inum\:[lol’ \O\y IOI]}
add_df = pd.DataFrame(add_dat)

In [114]: M

ol

sub_df = test_new[ ['HX2E', "'SHXE IS
sub_df.columns = ['code', 'num']

sub_df = pd.concat([sub_df, add_df]).reset_index()
sub_df = sub_df.drop(["index'], axis=1)

sub_df

Al
T

08

z'1]

Out[114]:

code num

0 C1072 693.88
1 C1128 1205.46
C1456 622.815

C1840 573.222

A W DN

C1332 11416

145 C1267 395.787
146 C2189 192.549

147 C2675 0
148 C2335 0
149 C1327 0

150 rows x 2 columns

In [115]: M

sub_df.to_csv('sixth_Igbm_0720.csv', index=False)
sub_df .head()

Out[115]:

code num

0 C1072 693.88
1 C1128 1205.46
C1456 622.815
C1840 573.222

A OWODN

C1332 11416
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In [116]: M

import os
os.listdir(os.getcwd())

Out[116]:

['.ipynb_checkpoints',
'06_model_val_01.ipynb',
'07_feature_engineering.html ',
'07_feature_engineering_01.html "',
'07_feature_engineering_01.ipynb",
'07_feature_engineering_01.pdf ",
'07_feature_engineering_02.ipynb",
'sixth_lgbm_0720.csv']

In [ ]: M
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